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ijh{kkfFkZ;ksa ds fy, lkekU; funsZ'k % 
GENERAL INSTRUCTIONS TO THE EXAMINEES: 
1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[ksaA  
 Candidates must write his/her Roll Number on the question paper. 
2- lHkh iz'u vfuok;Z gSA 
 All the questions are compulsory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksA 
 Write the answer of each question in the answer sheet only. 
4- ftu iz'u es vkarfjd [kaM gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksA 
 For question having more than one part, the answers to those parts are to be written 

together in continuity. 
5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA 
 Write down the serial number of the question before attempting it. 
6- iz'u i= ds fganh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusA 
 If there is any kind of error/ difference/contradiction in the Hindi and English versions 

of the question paper, the question of Hindi version should be treated valid. 
7- iz'u la[;k 1 cgqfodYih iz'u gS] ftlesa 10 Hkkx gSA izR;sd Hkkx ,d vad dk gSA 

lgh fodYi dk p;u dj mÙkj iqfLrdk esa fy[ksaA 
 Question number 1 is an multiple choice question, with 10 parts. Each part is of one 

mark. Choose the correct option and write it in the answer sheet. 
 

iz'u la[;k 
Question No. 

vad izfr iz'u 

Mark Per Question 

mÙkj dh 'kCn lhek 
Answer word limit 

1 (i) to (x) 1 lgh fodYi dk p;u 

2-11 1 10&20 'kCn 

12-15 2 30&40 'kCn 

16-19 3 50&60 'kCn 

20-21 4 100&150 'kCn 

22-23 4 200&250 'kCn 



[k.M&v  
Section-A 

1- cgq oSdfYid iz'u %& 

Multiple Choice Questions :- 
 

i) n= 4 ds fy, fdrus d{kd laHko gS &     (1) 

 How many orbitals are possible in n=4 - 

 v- 4   c- 5   l- 9  n- 16 

ii) fu:id rRo gksrs gS&       (1) 
Representative elements is- 

 v- s-Block  c- p-Block  l- d-Block n- f-Block 

iii) ,Ydhu dk lkekU; lw= gS&      (1) 
The General formula of alkenes - 

 v- n 2n+2C H     c- n 2n-2C H    

 l- n 2C H n      n- n 2n+1C H  

iv) 0-0025 ds lkFkZd vad fdrus gksxs&     (1) 
How many significant figures are  0.0025 -  

v- 5   c- 4   l- 2  n- 3 

v) fuEufyf[kr esa ls fdl v.kq dh f}/kqzo vk?kwZ.k vf/kdre gS&  (1) 
Which of the following is maximum dipole moment- 

v- 2Co    c- 4CH   l- 3NH  n- 3NF  

vi) nzO; dh eq[; fdruh voLFkk,¡ gksrh gS&     (1) 
How many important states of matter- 

v- 5   c- 4   l- 3  n- 2 

vii) FkeZl ¶ykLd esa cQZ gS&       (1) 
Ice in thermal flask is - 

 v- [kqyk fudk; (Open System)  c- can fudk; (Closed system) 

 l- foyfxr fudk; (Isolated system) n- mijksDr lHkh (All of the above) 

viii) MnO2 esa Mn dk vkWDlhdj.k vad gS&     (1) 
Oxidation number of Mn in MnO2 is- 

 v- $2   c- $4   l- $1  n- Zero  

ix) Li ds xq.k leku gS &       (1) 
Li has similar properties -  

v- Mg     c- Na    

l- Na vkSj Mg nksuksa   n- O2   

 



x) fuEufyf[kr esa ls dkSulk ukfHkd Lusgh gS &    (1) 

Which of the following is Nucleophile - 

 v- Brf   c- R-OH  l- Fecl3  n- CO2  

2- leka'k cU/k fo[k.Mu dks ifjHkkf"kr djs A     (1) 

 Define hemolytic and fission. 

3- C6 H14 ds lajpukRed leko;fo;ksa dh la[;k fdruh gksxh \  (1) 

 What will be the number of structural isomers of C6 H14 

4- yh&'kkrsfy, ds fu;e dks ifjHkkf"kr djsA     (1) 

 Define le-chatliar rule. 

5- vkn'kZ xSl lehdj.k fyf[k,A       (1) 

 Write ideal gas equation.       

6- ty ds v.kq dh vkd`fr dSlh gksrh gS \     (1) 

 What is the shape of water molecule ? 

7- vkoksxknzks la[;k dk eku fyf[k,A      (1) 

 Write value of avagadro number ? 

8- (n+l) fu;e dks le>kb, \       (1) 

 Define (n+1) rule/law? 

9- xSlh; v.kqvksa dh vkSlr xfrt ÅtkZ ------------------ ds lekuqikrh gksrh gS \ (1) 

The average kinetic enery of gases are proportional to ___________ 

10- -------------------- esa vEyh; gkbMªkstu mifLFkr gS \    (1) 

Acidic hydrogen present in ________ 

11- ljyre~ rr̀h;d ,sehu esa dkcZu ijek.kqvksa dh la[;k ------------ gksrh gSA (1) 

Number of carbon atoms in the simplest tertiary amine is _____? 

SECTION-B 

[k.M&c 

12- lhekar vfHkdeZd dks le>kb,A      (2) 

Define limiting reagent. 

vFkok OR 

 fuEufyf[kr ds fy, eksyj nzO;eku Kkr dhft,A 

Calculate the molecular mass of the following. 

(1) OH 2   (2) 2CO  

13- gkbtsuoxZ dk vfuf'prrk dk fl)kUr le>kb,A    (2) 

Define heisenberg's uncertainity principle. 



vFkok OR 

 Cr24 o Cu29 ds bysDVªkWfdu foU;kl fyf[k, \ 

Write electronic configuration of Cr24 o Cu29  

14- fuEufyf[kr lehdj.k dks vk;u bysDVªkWu fof/k }kjk lUrqfyr dhft, \  (2) 

Balance the following reaction using ion-electron method.  
2 2 3 3

2 7 2Cr o Fe Cr H O Fe         (vEyh; ek/;e Acidic Medium) 

15- js[kkafdr dk vkWDlhdj.k vad Kkr dhft,\      (2) 

Find the oxidation number of the under line. 

1- 4OMnK   2- 2 7KrCr O   3- OFe  

Section-C 

[k.M&l 

16- fuEufyf[kr ij fVIi.kh fyf[k,&       (3) 

Write short note on following-  

i) ifjj{k.k izHkko  ii) fo/kqr _.krk  iii) izHkkoh ukfHkdh; vkos'k 

    Shielding effect      Electronegativity      Effective Nuclear Charge. 

vFkok OR 

 ijek.kq f=T;k fdls gS \ bldksa izHkkfor djus okys dkjd le>kb, \ 

Define atomic radius ? Explain the factors affecting. 

17- Kp o Kc esa lEcU/k dh O;qRifÙk dhft, \      (3) 

Drive the relationship in between Kp & Kc 

vFkok OR 

 le vk;u izHkko fdls dgrs gS] le>kb,A 

Define isoionic effect, explain. 

18- gkbMªkstu ds leLFkkfud ds uke fy[ks rFkk muds xq.kksa dh rqyuk dhft,A (3) 

Write the names of isotopes of hydrogen and compare it's properties. 

vFkok OR  

 gkbMªkstu ds leLFkkfud ds uke fy[ks rFkk muds xq.kksa dh rqyuk dhft, \ 

DESCRIBE method of preparation of hydrogen in lab. 

19- fuEufyf[kr ij fVIi.kh dhft,A       (3) 

Write short note on following- 

i) bysDVªkWu Lusgh  ii) eqDr ewyd   iii) izsjd izHkko 

    Electrophiles      Free Redical       Indicative Effect  

 



vFkok OR 

 vklou fdls dgrs gSA izHkkth vklou dks lfp= le>kb;sA 

Distillation and explain with diagram fractionl distillation.  

Section-D 

[k.M&n 

20- vuqukn ls vki D;k le>rs gSA O3 rFkk Co3
-2 dh vuquknh lajpuk le>kb,A (4) 

What do you understand by resonance, explain resonanting structure of O3 & Co3
-2 

vFkok OR 

fuEufyf[kr v.kqvksa dh ljapuk dks VSPER fl)kUr ds vk/kkj ij lfp= le>kb, \ 

Explain the structure of the followign molecule on basis VSPER theory. 

21- dsyksjhfefr@dSyksjhehVj D;k gS \ dSyksjhehVj dk lfp= o.kZu djksA  (4) 

Define calorimetry. Describe the BOM calorimeter with diagram. 

vFkok OR 

Å"ekxfrd fudk; ij fd;s x;s dk;Z dk lfp= o.kZu djksA 

Describe work done on the theromodynamic body. 

Section-E 

[k.M&; 

22- dkcZu ds vij:iksa dk o.kZu djks\        (4) 

Describe allotropic form of carbon. 

vFkok  

fuEufyf[kr jklk;fud lehdj.kksa dks iw.kZ djksA 

Complete the following chemical equations. 

a) 
2 4

373K
HCOOH

Conc H SO
 

b) ( )gZnO CO    

c) ( ) 2sC H O   

d) 1273
2 22 ( ) ( ) 4 ( ) KC s O g N g    

vFkok OR 

fuEufyf[kr ij fVIi.kh fyf[k,& 

Write Short note on -  

i) vfØ; ;qXe izHkko (Inert pair effect) 

ii) xzhu gkÅl izHkko (Green house effect) 

iii) xzsQkbV (Graphite) 

iv) J`a[kyu (Catenation) 



23- fuEufyf[kr ds I.U.P.A.C. uke fyf[k,A       (4) 

Write I.U.P.A.C. name of following  

1. 33 CHCH      2. 22 CHCH     

3. 2 3CH C CH CH     4.  CH C Cl   

vFkok OR 

 fuEufyf[kr ij fVIi.kh fyf[k,A 

 Write short note above.  

i) ekdksZuhdkWQ la;kstu (Markownikov Addition) 

ii) ,Fksu ds la:i.k (Conformation Isomerism in Ethene)  

vFkok OR  

fuEufyf[kr ij fVIi.kh fyf[k,\  

Write short note above. 

i) oqVZt vfHkfØ;k (Wurtz Reaction)  

ii) dksYcs fo|qr vi?kVuh; (Kolbe's electrolysis)  

iii) vkstksuh vi?kVu (Ozonolysis)  

iv) cgqyhdj.k (Polymerisation)  
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ijh{kkfFkZ;ksa ds fy, lkekU; funsZ'k % 
GENERAL INSTRUCTIONS TO THE EXAMINEES: 
1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[ksaA  
 Candidates must write his/her Roll Number on the question paper. 
2- lHkh iz'u vfuok;Z gSA 
 All the questions are compulsory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksA 
 Write the answer of each question in the answer sheet only. 
4- ftu iz'u es vkarfjd [kaM gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksA 
 For question having more than one part, the answers to those parts are to be written 

together in continuity. 
5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA 
 Write down the serial number of the question before attempting it. 
6- iz'u i= ds fganh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusA 
 If there is any kind of error/ difference/contradiction in the Hindi and English versions 

of the question paper, the question of Hindi version should be treated valid. 
7- iz'u la[;k 1 cgqfodYih iz'u gS] ftlesa 10 Hkkx gSA izR;sd Hkkx ,d vad dk gSA 

lgh fodYi dk p;u dj mÙkj iqfLrdk esa fy[ksaA 
 Question number 1 is an multiple choice question, with 10 parts. Each part is of one 

mark. Choose the correct option and write it in the answer sheet. 
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Question No. 

vad izfr iz'u 

Mark Per Question 

mÙkj dh 'kCn lhek 
Answer word limit 
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12-15 2 30&40 'kCn 

16-19 3 50&60 'kCn 

20-21 4 100&150 'kCn 

22-23 4 200&250 'kCn 



[k.M&v  
Section-A 

 

1- cgq oSdfYid iz'u %& 

Multiple Choice Questions :- 

i) dsUMsyk fdl HkkSfrd jkf'k dk ek=d gS&     (1) 

Candela is the unit of physical quantity- 

 v- rki  c-  ek=k  l- T;ksfr&rhozrk  n- le; 

a) Temperature b) mass  c) Luminous-Intensity  d) time 

ii) ;fn n = 3 gks rks l ds laHko eku gksxsa&      (1) 

If n=3 give possible values of l = - 

 v- 0  c- 1   l- 2  n- All of the above  

iii) fuEufyf[kr dh vf/kdre f=T;k gS&       

 (1) 

The maximum radius of following is  ______  

 v- Mg+2   c- Al+3    l- Mg   n- Al  

iv) ca/k yEckbZ U;wure gksxh &       (1) 

Bond length will be minimum -  

 v- Br2   c- F2    l- Cl2   n- I2  

v) Ne ds v.kqvksa ds e/; ca/k gksrk gS&      (1) 

Bond present in between Ne molecules- 

 v- H-bond c- /kkfRod ca/k  l- vk;fud ca/k n- ok.Mjoky ca/k 

     H-bond      Metalic bond      Ionic Bond        Vanderwaals bond 

vi) OF2 esa O dh vkWDlhdj.k vad gS&      (1) 

Oxidation Number is O in OF2 

a) -2  b) +2   c) -1   d) +1  

vii) fdlh U;wure ,UVªkWih gS &       (1) 

Who has minimum Entropy - 

 v- xzsQkbV c- ghjk   l- N2 (g)   n- N2O(g)  

     Graphite      Diamond       N2 (g)        N2O(g) 

viii)  {kkjh; /kkrqvksa ds la;kstdrk gS &      (1) 

Valency of alkali metals are - 

v- 1  c- 7   l- 4   n- 2 



ix) iz;ksx'kkyk esa la'ysf"kr izFke dkcZfud inkFkZ &     (1) 

Organic compound synthesised in lab - 

v- ,yqfefu;e lkbusV  c- ;wfj;k l- veksfu;k  n- ty 

     Ammonium Cyanate       Urea       Ammonia       Water 

x) lkekU; n'kkvksa esa esFksu ls vfHkfØ;k ugh n'kkZrh&    (1) 

Methane does not react in normal condition -  

 v- I2    c- Cl2  l- Br2   n- F2  

2- eksyj nzO;eku dks ifjHkf"kr djksA       (1) 

Define Molar Mass. 

3- uksMl fdls dgrs gSA         (1) 

Define Nodes. 

4- f}/kqzo vk/kwZ.k fdls dgrs gS] le>kb,A      (1) 

Define dipole moment. 

5- ckW;y dk fu;e fyf[k,A 

Write Boyle's law. 

6- lkE;koLFkk ls vki D;k le>rs gS\       (1) 

Explain equilibrium state. 

7- o   ca/k dh x.kuk djsA        (1) 

Calculate number of &   bond 

23 CHCHCH    izksi&1&bZu Prop-1-ene 

8- m/oZikru dks ifjHkkf"kr djsA        (1) 

Define Sublimation. 

9- nks vLFkk;h f}/kzqo ds chp ds vkd"kZ.k dks ------------------ dgk tkrk gSA   (1) 

Force of attraction between two temporary dipoles is known as  

10- csthu ,d -------------------;kSfxd gSA      (1) 

Benzene is  ________ compound. 

11- ,FkkbZu dks jDr rÌr yksg ufydk ls xqtkjus ij -------------- izkIr gksrk gSA  (1) 

Ethyne on passing through red hot iron tube we get............ 

Section-B 

[k.M&c 

12- ewykuqikrh lw= o v.kq lw= esa vUrj fyf[k,A      (2) 

Write the difference between the empirical formula and molecular formula.  

13- (n+1) fu;e dks le>kb;s \        (2) 

Explain (n+1) rule. 



vFkok OR 

fuEufyf[kr ds fy, DokVae la[;k,¡ (n,l,s,m) dh x.kuk djsA 

Calculate quantum number's (n,l,s,m) following. 

a) Na+   b) H+  c) Li+   d) K+ 

14- fuEufyf[kr lehdj.k dks vkWDlhdj.k vad fof/k }kjk lUrqfyr dhft, \  (2) 

Balance the following reaction using oxidation number method. 
2 2 3 2

2 7 ( ) 3 ( ) ( ) 4 ( )aq aq aq aqCr O SO Cr SO       

vFkok OR  

js[kkfdr dk vkWDlhdj.k vad Kkr dhft,A 

Find oxidation number of the under line. 

(i) 4KMnO    (ii) 22 7Kr Cr O   (iii) Feo  

15- fuEufyf[kr ds mi;ksx fyf[k,A       

 (2) 

Write uses of following. 

a) NaOH    b) 2 3 210Na CO H O  

SECTION-C 

[k.M&l 

16- fuEufyf[kr ij fVIi.kh fyf[k, &       (3) 

Write short note on following - 

a)  vk;uu ,UFksYih   b)  ijekf.od f=T;k 

     Ionization Enthalpy       Atomic Radius 

vFkok OR 

/kkrq] v/kkrq vkSj mi/kkrq dks le>kb, \ 

Explain metals, non-metals and Metalloid.  

17- nzO; vuqikrh fØ;k fu;e dks le>kb,A 500K ij N2 rFkk H2 ls NH3 cuus ds nkSjku 

lkE;koLFkk esa lknzrk,¡ izkIr gq,A      (3) 

Explain law of mass action. The following concentration were obtained for the 

formation of NH3 form N2  at equilibrium at 500 k. 

M105.1]N[ 2
2

 , M100.3]H[ 2
2

  rFkk M102.1]NH[ 2
3

  

rks lkE;koLFkk fLFkjkad dh x.kuk djksA 

Calculate equilibrium constant. 

vFkok OR 



 lkE;koLFkk dks izHkkfor djus okys dkjdksa dk o.kZu djksA 

Define factors affecting equilibrium ? 

18- gkbMªkstu dh vkorZlkj.kh esa bysDVªkWfud foY;kl ds vk/kkj ij fLFkfr dks Li"V djsaA 

Justify the position of hydrogen in the periodic table on the basis of it's electronic 

configuration.          (3) 

vFkok OR  

 ty o cQZ dh lajpukvksa dks le>kb,A 

Explain structure of water and Ice ? 

19- o.kZys[khdh ¼ØksesVksxzkQh½ dks ifjHkkf"kr djsaA vo'kks"k.k ØksesVksxzkQh dk lfp= o.kZu 

dhft,A          (3) 

Define chromatography. Explain adsorption chromatography with the help of 

diagram. 

vFkok OR 

 fuEufyf[kr ij fVIi.kh fyf[k, &  

Write  a short note on following. 

i) vuqukn izHkko   ii) ltkrh; Js.kh 

    Resonance effect        Homologous Series. 

SECTION-D 

[k.M&n 

20- fudk; dks ifjHkkf"kr djsA blds izdkjksa dk lfp= o.kZu djsaA   (4) 

Define system. Describe types of system with the help of diagram. 

vFkok OR 

fuEufyf[kr rkfydk esa fn;s x;s G ds eku vk/kkj ij lkE; dh izØe Lor% izofrZrk 

rFkk vLor% izofrZrk dks crkb;s& 

In equilibrium process are spontaneous or non spontaneous.  

 H  S  G  Description 

1 - + -  

2 - - - 

(at low T) 

 

3 + + +  

(at low T) 

 

4 + - + 

(at all T) 

 

 



21- VSPER fl)kUr ds vk/kkj fuEufyf[kr v.kqvksa dh vkd`fr dk feyku djsaA (4)  

Match up on the basis of VSPER theory.  

a) SO2   1- eqMh gqbZ (Bent) 

b)  NH3   2- f=dks.kh; leryh; (Trigonal Planer) 

c)  ClF3   3- T&vkd`fr (T-Shape) 

d)  Xef4   4- prq.Qydh; (Tetrahedral) 

e)  Becl2   5- v"BQydh;  (Octahedral) 

f)  Sf6   6- okfleryh; (Square Planer) 

g)  CH4   7- f=dks.kh; fijkehMh (Trigonal Pyramidal) 

h)  BF3   8- js[kh;  (Linear) 

vFkok OR 

ladj.k fdls dgrs gSA C2H6 o C2H4 esa ladj.k dks lfp= o.kZu djks \ 

What is Hybridisation. Explain hybridisation in C2H6 and C2H4 with diagram.  

SECTION-E 

[k.M&; 

22- fuEufyf[kr ds I.U.P.A.C. uke fyf[k, \      (4) 

Write I.U.P.A.C. name of following. 

a) 3222 CHCHCHCHCH   b)  4CCl  

c)  
d) 2 2CH C CH CH CH     

 

vFkok OR  

fuEufyf[kr ij fVIi.kh fyf[k, & 

Write short note on - 

i) ijvkWDlkbM izHkko (Peroxide Effect) 

ii) ,Fkkbu dk d{kh; fp= (Draw the orbital picture of ethyene)  

vFkok OR 

fuEufyf[kr jklk;fud lehdj.k dks iwjk dhft,A 

Complete following chemical equation 

a) 3CaCO   

b)  4CCl
222 BrCHCH  



c) 
OH

Zn
3OCHCHCH

2
23 

   

23- fuEufyf[kr ds ifjoZru'khy vkWDlhdj.k voLFkk ij ppkZ djsA   (4) 

Discuss the pattern of variation in the oxidation states of following - 

a) B to T1   b) C to Pb 

vFkok OR 

dkj.k crkb,& 

Give reasons. 

i) ghjs esa lg;kstu ca/k mifLFkr gksus ij Hkh] bldk xyukad mPp gksrk gS] D;ks\ 

Diamond is covalent yet it has high melting point why ? 

ii) B ls Bf6
-3 dk fuekZ.k ugh gks ldrk] le>kb;sA 

Boron is unable to from Bf6
-3 Ion Explain. 

vFkok OR 

fuEufyf[kr ij fVIi.kh dhft,A 

Write a short note on  

i) bysDVªkWu U;wu ;ksfxd (Electron deficient compound) 

ii) 'kq"d cQZ (Dry Ice) 

iii) /kkfRod dkckZbM (Metal Carbides) 

iv) ty xSl (Water Gas) 

 

 

 


